
Year 1 Maths Home Learning 

This week we have been thinking about number bonds within 10. We have been 
using a system to find all the number bonds to our numbers.  

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

5 + 0 = 5 

4 + 1 = 5 

3 + 2 = 5 

2 + 3 = 5 

1 + 4 = 5 

0 + 5 = 5 

Look how we have 
used a system to 
find number bonds 
to 5.  

Can you find number bonds to 6 using the 
same system? 

The first one has been done for you.  

6 + 0 = 6 

Can you use the same system 
to find all the number bonds to 

7? 


